Welcome to our maths
session

Please sit in pairs and small groups as
we will be expecting you to join in
with our session today
(including lots of partner talk)



Do Now!

1+0=1 1-0
2+0=2 2-0=2
3+0=3 3-0=3

1+10=1 | 1-10=1
2+10=12 | 12-10=2
3+10=13 | 13-10=3

What do you notice?

| noticed that...

What is the same?

| can see that...

What is different?

"because”



Addition and
subtraction - Year 1
objectives

| can read and understand number
statements using +, - and =

| can write number
statements using +, - and =

| can use number bonds up to 20

| can use subtraction facts
up to 20

| can add one digit and two digit
numbers to 20

| can subtract one digit and
two digit numbers to 20

| can answer problems that use addition and subtraction, including
missing number problems, using objects and pictures




Concrete

Manipulatives: Anything you can get your hands on, often
with a 1:1 ratio of number to objects. You can solve problems
by counting. Including, but not limited to:

Numicon Cubes

o
o

Counting objects




4+ 3



Visual

A visual representation of the numbers that you can see. You
can solve problems by counting. You can see the numbers but
you can't move them around. Including, but not limited to:
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pictures that you draw



4 + 7 =



Abstract

There isn't an obvious connection between what you can see
and the numbers but it does have a purpose. You can't solve

problems by counting so you need to have an internal
understanding of number.




Concrete

I

Visual

|

Abstract

Kite metaphor



Different representations.

There were 4 cats. 2

more cats came. How o
many cats altogether?



BUT WHY
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What do you notice? What is the same?
What is different?



WALT wuse
subtraction to
find .a missing
,p,a,d:.

[ can find out how many objects cre
left when some .ore taken aw.oy

[ can use a jotting or ohjects to solve
subtractions




Which is the right part whole?
/] - 3 =4

SR

How do AJOAL know?



In a subtraction, which
number is the biggest? Why?

b -7 =7 3. 9

—

0 -6 =4

13 = &= 9

b - 2 =12



T.alk Tosk

Have .a look .at the subtractions
on youwr page. Cross out the ones that

AL M/I;OILg.

0 -3 =7
L - 10 = 6
2-5=3

6 - L = 2



Develop Learning.

When mwe take aw.ay, we are splitting a
whole into two parts. Find the missing
number using .o take aw.ay.
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Final thought

27
How many m.oys can iou moke
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